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4:44.0% 04:48.0% 04:49.1%
(160.A) (1304) (1070)
3:7.4% @3:5.5% 03:5.0%
270) (15A) (a1A)
02:1.9% o2:2.6% o214%
7A) 7A) BA)
BLL6% @111% BL05%
(6A) BA) aA)
0:0.5% @0:0.0% 0:0.0%
@A) (A) (0A)
< Fi9fEi-4.28 > < Fi9fEi=4.29 > < FifEi-435 >
532.9%
(452)
4:51.3%
(704.A)
3:9.6%
(132A)
02:4.2%
(58A)
oLL7%
(23A)
0:0.2%
BA)
< FigfE-=41 >
REFENA (EER)
1A—60A
m5:718%
(56.A)
04:24.4%
(19A)
O3:2.6%
@A)
o213%
(1A)
BL0.0%
(OA)
B0:0.0%
(OA)

< FifE=467 >
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1=2{E3BhIL

O=RIETERL,

5=<EIRS. 4=F3B5. 3=ELLEBLARL, 2=F3BhHAL,
REKENE BER)
1A—60A 61A—200A 201 A—500A
B5:14.3% B5:25.0% B5:403%
aA) (BA) (62A)
04:42.9% 04:583% 04:53.2%
BA) (7A) (82A)
03:00% 038.3% 033.2%
(OA) @A) (5A)
02:28.6% 028.3% 02:13%
28] @A) @A)
D1:14.3% B10.0% D119%
(LA) (0A) BA)
D0:0.0% D0:0.0% 00:0.0%
(OA) (OA) (OA)
< FHfE=3.14 > < FHfE=a > < FfE=4.29 >
2 pimpan
AXEZREE (EP)
1A—60A 61A—200A 201 A—500A 501 A—
B5:50.0% @5:100.0% B5:385% B5:412%
(1A) 2A) (10A) (21A)
04:0.0% @4:0.0% 04:423% 04:47.1%
(OA) (OA) (11A) (240)
3:50.0% 23:00% 03:15.4% 03:118%
(LA) (OA) (N} (6A)
02:00% o2:0.0% 02:0.0% 02:0.0%
(OA) (OA) (0A) (0A)
BL1:0.0% 21:0.0% D138% B100%
(OA) (OA) (tA) (0A)
B0:0.0% 20:0.0% 00:0.0% B0:0.0%
(OA) (OA) (0A) (0A)
< FiYftE=a > < FfE=5> < FHfE=412 > < FiYfEi=4.29 >
Feve
BA- AME2REE
1A—60A
B5:0.0%
(OA)
04:33.3%
(1A)
3:66.7%
@A)
02:00%
(OA)
BL0.0%
(OA)
B0:0.0%
(OA)
< Fi9fE=3.33 >
— s °
DIIAT4T -V RE
1A—60A 61A—200A 201 A—500A
B5:66.7% B5:60.0% B5318%
28] BA) 7A)
04:33.3% B4:0.0% 04:409%
(LA) (0A) (OA)
03:0.0% 03:40.0% 03:27.3%
(OA) @A) (6A)
02:00% 02:0.0% 02:0.0%
(OA) (0A) (0A)
BL0.0% B10.0% B10.0%
(OA) (0A) (0A)
B0:0.0% B0:0.0% B0:0.0%
(OA) (A) (OA)
< FifE =467 > < FigfE-=42 > < FifE=4.05 >
FvUTHRZIERE
61A—200A 201 A—500A
B5:45.5% B5:333%
(5A) @A)
04:36.4% 04:66.7%
@A) @A)
03:9.1% 03:0.0%
@A) (0A)
029.1% 02:0.0%
@A) (0A)
B10.0% B10.0%
(0A) (0A)
B0:0.0% B0:0.0%
(0A) (A)

< FifE=418 >

< Fi9fE=433 >
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5=M<ESE3, 4=%F583, 3I=ELLEBVALLY,

2=F53B 01N,

1=2{E3BhIL

O=EETERL,

EHREMAE

XA REE B

IR=NI- 4T -AHREEE

frifl SRR R R

5:54.8% B5:50.0% B5:100.0% m5:333%
(132A) [EXN] OA) aA)
4:36.1% 04:44.4% 04:0.0% 04:66.7%
(87A) (8A) (OA) 2A)
3:5.8% 03:5.6% 03:00% 03:00%
(14A) aA) (OA) OA)
02:0.8% 02:00% 02:0.0% 02:0.0%
@A) (0A) (OA) (0A)
01:0.8% B10.0% BL0.0% D10.0%
@A) (0A) (OA) (0A)
o:17% D0:0.0% 30:0.0% D0:0.0%
(@A) (OA) (OA) (0A)
< FiYfti = a.46 > < FYfti=4.44 > < FHfE=5> < FHfE=433 >
< . .
BARE- BAXLEE L 4—HEA ro-nNLEEL -8B
5:56.3% B5:35.7%
(103A) (10A)
[4:34.4% 04:50.0%
(63A) (140)
3:5.5% 03:107%
(10A) (BA)
D21.1% 02:0.0%
@A) (0A)
B1:0.5% D13.6%
(1A) aA)
0:2.2% B0:0.0%
4A) (OA)

< FiYfE=4.48 >

< FYfE=4.14 >
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5=m<{E583, 4=%383,

B=ELBELNRAL,

2=Z5BbHHL

\a

1=2{E3BhIL

O=RIETERL,

£FHEE

1A—60A 61A—200A 201 A—500A 501 A—
B5:26.0% m5:22.0% B5:205% m5:26.4%
(725A) (2400) (6121) (570)
04:52.0% 04:48.6% 04:48.0% 04:50.5%
(14500) (5210) (1430A) (1094)
3:15.8% 3:18.8% 03:228% m3:17.1%
(439.0) (2024) (6810) B7A)
o23.9% 026.0% 02:51% 02:2.3%
(110A) (641) (152) (5A)
DL13% @12.9% D124% @1:2.3%
[EN] (31A) (72A) (5A)
00:0.9% 20:1.3% D0:11% 20:1.4%
(260) (1aA) [ELON] BA)
< FifE=3.98 > < FifE=3.83 > < FigfE=38 > < FfE=3.98 >
XEEEE
1A—60A 61A—200A 201 A—500A
B5:32.9% B5:19.0% B5:216%
(254) 12A) (a1A)
04:48.7% 04:46.0% 04:47.4%
[EN] (290) (90A)
03:13.2% 03:17.5% 03:253%
(104) 1A) (48A)
o23.9% 02:111% 02:21%
(3A) 7A) (N}
o11.3% D1:4.8% D13.2%
(1A) (BA) (6A)
B0:0.0% 00:1.6% B0:0.5%
(OA) A A
< FifE=4.08 > < FifE=3.65 > < FifE=3.83 >
e
EFHEE
1A—60A 61A—200A 201 A—500A 501 A—
B5:34.6% B5:209% B5:21.0% B532.2%
(4a1) (18A) (1384) (39A)
04:37.8% 04:55.8% 04:42.2% 04:463%
(481) (48\) (2780) (561)
03:14.2% 03:17.4% 03:25.5% 03:14.0%
(184) (15A) (1684) A
o27.9% 02:4.7% D26.1% o2:1.7%
(10A) [N (40A) @A)
B13.9% o112% o13.2% D133%
(5A) an) (21A) [ON]
B0:1.6% B0:0.0% B0:2.0% B0:2.5%
@A) oA (13A) BA)
< Fi9fE=3.93 > < Fi9fEi=3.01 > < Fi9fE=3.73 > < Fi9fEi = 4.05 >
BEFEEEA
1A—60A 61A—200A 201 A—500A 501 A—
|5:57.1% @5:0.0% |55.0% B59.1%
(8A) (0A) (B8A) aN)
04:35.7% ©4:100.0% B4:217% 04:59.1%
(5A) QA) (13A) (26.0)
O3:7.1% @3:0.0% 03:333% 03:25.0%
QA) (OA) (20A) (11A)
02:00% o2:0.0% 028.3% 02:4.5%
(OA) (OA) (5A) @A)
BL0.0% @L10.0% B1:26.7% o123%
(0A) (0A) (16.A) an)
B0:0.0% @0:0.0% B0:5.0% B0:0.0%
(OA) (OA) BA) (A)
< FigfE=45 > < FigfE=4 > < Fi9fEi-2.68 > < Fi9fEi=3.68 >
BURFHE A
1A—60A
m5:27.8%
(15A)
D4:611%
(33A)
O3:111%
(6A)
O2:0.0%
(OA)
BL0.0%
(OA)
B0:0.0%
(OA)

< FifE=417 >
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5=58<Z5B5, 4=%58B3, 3=EBLEBLEAL, 2=F3BbAL, 1=2<Z53BbAL, O0=EZETELL,
Bk
X{etE#REE B
1A—60A 61A—200A 201 A—500A
[5:28.2% [5:15.8% @5:19.3%
(11A) (15A) (740)
04:46.2% 24:42.1% @4:50.5%
(18A) (400) (194.0)
03:12.8% 03:26.3% 03:23.4%
(5A) (25A) (90A)
02:7.7% 02:9.5% 02:4.9%
BA) 9A) (19A)
@15.1% [B163% @1:1.3%
28] (6A) (5A)
@0:0.0% @0:0.0% @0:0.5%
(OA) (OA) @A)
< FifE=3.85 > < FifE=352 > < FifE=3.82 >
o itk 3]
SHMHE
1A—60A 61A—200A 201 A—500A
m5:27.1% m5:25.2% m5:34.1%
(290) (33A) (47.0)
04:54.2% 04:45.8% 04:44.9%
(58A) (60.A) (62.0)
03:14.0% 03:22.9% 03:17.4%
(15A) (30A) (240)
02:1.9% 02:3.1% o2:22%
@A) [ON] BA)
@1:1.9% @1:23% @1:0.7%
28] BA) @A)
@0:0.9% @0:0.8% @0:0.7%
(1A) ar) ar)
< FifE=4.04 > < FfE=3.89 > < FifE=41 >
2, %y [
RR—VRERPEHEE
1A—60A 61A—200A 201 A—500A
@5:48.0% B85:0.0% B5:233%
(24N) OA) (20A)
04:36.0% 04:80.0% 04:52.3%
(18A) [LON] (45 A)
03:8.0% 03:0.0% 03:14.0%
[CN] (OA) (12A)
02:6.0% 02:20.0% 02:4.7%
(3A) @A) (N}
B1:2.0% @1:0.0% @13.5%
(A) A BA)
[0:0.0% [0:0.0% @0:2.3%
(OA) (0A) @A)
< FigfE=422 > < FifE=36 > < FifE=3.89 >
vy o]
BEISHMA
1A—60A 61A—200A 201 A—500A
@5:41.7% @5:132% @5:7.7%
(100) (290) (aA)
[4:29.2% [4:40.0% [4:23.1%
(7A) (88A) BA)
03:16.7% 03:25.9% 03:30.8%
(OS] (57A) (4N
02:12.5% 02:10.9% 02:15.4%
(BA) (240) @A)
B1:0.0% @15.5% @1:15.4%
(OA) (12A) 2A)
[0:0.0% [0:4.5% @0:7.7%
(OA) (10.A) (1A)
< FifE=a > < FifE=3.47 > < FifE=292 >
vy o]
IDEFREE
1A—60A 61A—200A 201 A—500A
@5:18.6% @5:18.0% @5:14.0%
(11A) (11A) (127.0)
[4:59.3% [4:60.7% [4:53.1%
(35M) (37.0) (4810)
03:18.6% 03:14.8% 03:24.5%
(11A) [EXN] (222A)
02:3.4% 02:6.6% 02:6.2%
2A) aN) (S6A)
@1:0.0% @1:0.0% @1:15%
(OA) ©0A) (18)
[0:0.0% [0:0.0% [0:0.6%
(OA) (0A) (5A)

< Fi9fE=3.93 >

< Fi9fE=3.9 >

< FifE=372 >




[002)H - IXC DB EDEZEBEEZZERTELERNVETM?

5=m<{E583, 4=%383,

B=ELBELNRAL,

2=F53B 01N,

1=2{E3BhIL

O=RIETERL,

JO0-nlb =231z -Ya 8 E B
1TA—60A

61A—200A

201 A—500A

5:27.4% B5:10.7% B5:295%
(150) BA) (13A)
4:59.1% 04:53.6% 04:45.5%
(162A) (15A) (20A)
3:10.2% 03:286% 03:15.9%
(28A) (8A) (7A)
02:15% 02:7.1% 02:6.8%
(@A) @A) BA)
o118% B10.0% D123%
(5A) (0A) aA)
B0:0.0% 80:0.0% 30:0.0%
(OA) (OA) (OA)
< FifE=4.09 > < FifE=3.68 > < FifE=3.93 >
. .
ro-n I ibig L E T
1A—60A 61A—200A 201 A—500A
B5:27.6% B5:40.2% B5:11.7%
(37A) (33A) [ON)]
04:48.5% 04:32.9% 04:403%
(65A) 27A) (31A)
D3:16.4% 03:19.5% D3:33.8%
(220) (16.A) (26A)
o25.2% 02:4.9% 02:13.0%
(7A) aN) (10A)
D115% o112% 21:0.0%
2A) (1A) (0A)
20:0.7% 20:1.2% 20:1.3%
aA) A A
< FifE=3.96 > < FiYfE=4.07 > < FifE=351 >
RTERERE 2—HE
1A—60A 61A—200A 201 A—500A
5:26.6% @5:28.1% B532.1%
(97.0) (76.A) (70A)
4:59.6% @4:58.5% B4:50.9%
(217A) (1580) (11)
3:10.4% 03:9.6% 3:15.1%
(38A) (26A) (33A)
o21.1% o2:15% o214%
(4A) aN) (BA)
o114% @11.9% BL05%
(5A) (5A) (aA)
0:0.8% 20:0.4% 0:0.0%
BA) ar) (0A)
< FigfE=41 > < FifE=41 > < Fi9fEi-413 >
SEERA
1A—60A
5:20.8%
(2854)
4:52.4%
(719A)
3:19.6%
(269A)
02:4.9%
(67A)
B1:0.9%
(13A)
0:1.4%
(19A)
< FifE=3.88 >
REFENA (EER)
1A—60A
B5:66.7%
(52A)
04:25.6%
(20A)
O3:6.4%
(5A)
o213%
(1A)
BL0.0%
(OA)
B0:0.0%
(OA)

< FifE=458 >
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5=m<{E583, 4=%383,

B=ELBELNRAL,

2=F53B 01N,

1=2{E3BhIL

O=RIETERL,

REFENA ESER)

1TA—60A

61A—200A

201 A—500A

|5:0.0% B5:16.7% B5:35.7%
(OA) 2A) (55A)
04:42.9% 04:583% 04:52.6%
BA) (7A) (81A)
03:28.6% 03:25.0% 03:8.4%
@A) (BA) (13A)
02:14.3% 02:00% 02:0.6%
(LA) (0A) @A)
D1:14.3% B10.0% D10.6%
(LA) (0A) aA)
D0:0.0% D0:0.0% 00:1.9%
(OA) (OA) BA)
< FYfE=3 > < FHfE=3.92 > < FiYfEi=4.25 >
-
AXEZREE (EP)
1A—60A 61A—200A 201 A—500A 501 A—
B5:50.0% @5:100.0% B5:26.9% B5:27.5%
(1A) 2A) (7A) (140)
04:0.0% @4:0.0% 04:423% 04:52.9%
(0A) (OA) (11A) (270)
3:50.0% 23:00% 03:26.9% 03:17.6%
(1A) (OA) (7A) (9A)
02:00% o2:0.0% 02:0.0% 02:2.0%
(OA) (OA) (0A) (tA)
BL1:0.0% 21:0.0% D138% B100%
(0A) (0A) (aA) (OA)
B0:0.0% 20:0.0% 00:0.0% B0:0.0%
(OA) (OA) (OA) (OA)
< FigfE=a > < FifE=5 > < FifE=3.88 > < FifE=4.06 >
BA- AME2REE
1A—60A
@5:0.0%
(0A)
@4:100.0%
BA)
@3:0.0%
(0A)
02:0.0%
(0A)
@1:00%
(0A)
20:0.0%
(0A)
< FifE=4 >
YUIAT4T-SxURE
1A—60A 61A—200A 201 A—500A
B5:33.3% B5:60.0% |5:22.7%
(1A) (BA) (5A)
04:66.7% B4:0.0% 04:318%
2A) (0A) (7A)
03:0.0% 03:200% 03:318%
(0A) (aA) (7A)
02:00% 02:200% 029.1%
(OA) @A) @A)
BL0.0% B10.0% B10.0%
(OA) (0A) (0A)
B0:0.0% B0:0.0% 00:4.5%
(OA) (A) ar)
< FifEi-433 > < FigfE=4 > < Fi9fE=3.71 >
Fr)THAREEREE
61A—200A 201 A—500A
|5:27.3% B5:333%
(BA) 2A)
04:63.6% 04:50.0%
(7A) (BA)
03:9.1% 03:0.0%
(1A) (OA)
02:0.0% 02:0.0%
(0A) (0A)
B10.0% B10.0%
(0A) (0A)
B0:0.0% B0:16.7%
(OA) (1A)

< FifE=418 >

< Fi9fE=44 >
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5=m<{E583, 4=%383,

B=ELBELNRAL,

2=F53B 01N,

1=2{E3BhIL

O=EETERL,

EHREMAE

XA REE B

IR=NI- 4T -AHREEE

frifl SRR R R

@5:0.0%

5:46.7% B5:44.0% B5:100.0%
(112A) (8A) OA) (OA)
04:44.2% 04:44.4% 04:0.0% 24:100.0%
(106.A) (8A) (OA) BA)
3:5.0% 03:111% 03:00% @3:00%
(12A) 2A) (OA) (OA)
02:08% 02:0.0% 02:0.0% 02:0.0%
@A) (0A) (OA) (OA)
01:0.8% B10.0% BL0.0% @L0.0%
@A) (0A) (OA) (OA)
B0:2.5% 80:0.0% 30:0.0% 90:0.0%
(6A) (OA) (OA) (OA)
< FYfEi =438 > < FYfE=433 > < FHfE=5> < FftE=4 >
< . .
BARE- BAXLEE L 4—HEA ro-nNLEEL -8B
B5:47.3% B5:32.1%
(86.\) [EXN]
[4:45.6% 04:42.9%
(83A) (12A)
D3:33% 03:14.3%
(6A) aN)
O2:0.5% 02:3.6%
(1A) @A)
B1:05% o13.6%
(1A) aA)
20:2.7% D0:3.6%
(5A) ar)

< FiYfE=4.42 >

< FigfE=a >
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5=&{FATE.  4=BEOHFAE, IS=FHEFELTE-BIERAL. 2=BFEALERATOEL, 1=2<FATIVEL, O0=EZETELL,
Ak
EPEEE
1A—60A 61A—200A 201 A—500A 501 A—
B5:46.0% m5:49.7% B5:46.0% B5:353%
(12790) (5334) (1369A) (761)
04:29.2% 04:29.5% 04:293% 04:353%
(811A) (3174) (8730) (76 1)
03:14.1% O3:13.4% 03:14.8% 03:23.7%
(392A) (1481) (a401) (51A)
D26.8% 02:5.5% 02:5.5% 023.7%
(190.A) (590) (1654) 8A)
D14.0% @11.9% D1:4.4% D119%
(110A) (20A) (1314) [N
D0:0.0% 20:0.0% 00:0.0% D0:0.0%
(OA) (OA) (0A) (0A)
< Fi9fE=4.06 > < FifE=4.2 > < FifE=4.07 > < FfE=3.99 >
Ak
XEEEE
1A—60A 61A—200A 201 A—500A
B5:64.0% B5:57.8% 85:55.3%
(48A) [E2N) (1054)
04:32.0% 04:313% 04:22.1%
(240) (20A) @2A)
03:4.0% 03:16% 03:13.2%
BA) (1A) (25A)
02:00% 02:9.4% D253%
(OA) (6A) (10A)
BL1:0.0% B100% B1:4.2%
(OA) (0A) (8A)
B0:0.0% B0:0.0% 0:0.0%
(OA) (OA) (OA)
< FigfE=4.6 > < FifE=4.38 > < FifE=4.19 >
e
Ak
EPEEE
1A—60A 61A—200A 201 A—500A 501 A—
B5:60.6% B5:605% B5:44.3% B5:35.0%
(77A) (52A) (2910) (420)
04:33.9% 04:26.7% 04:29.7% 04:317%
(430) 23A) (1954) (38A)
O3:3.1% 03:9.3% 03:17.2% 03:258%
(4A) 8A) (1134) (61A)
02:08% 02:2.3% o25.0% 02:5.0%
(1A) @A) (33A) (6A)
oL16% o112% o13.8% B125%
2A) an) (25A) BA)
B0:0.0% B0:0.0% B0:0.0% B0:0.0%
(OA) (0A) (0A) (0A)
< FifEi=451 > < Fi9fEi =443 > < T = 4.06 > < FifEi=3.92 >
3 o o
BHEFENA
1A—60A 61A—200A 201 A—500A 501 A—
B5:64.3% @5:100.0% B5:16.7% |5:22.7%
(9A) (1A) (10A) (10A)
04:35.7% @4:0.0% 04:433% 04:43.2%
(5A) (0A) (26A) (19A)
03:0.0% @3:0.0% 03:283% 03:27.3%
(0A) (0A) (17A) (12A)
02:00% o2:0.0% 028.3% 02:4.5%
(OA) (OA) (5A) @A)
BL0.0% @L10.0% D133% o123%
(OA) (OA) @A) (tA)
B0:0.0% @0:0.0% B0:0.0% B0:0.0%
(OA) (OA) (0A) (0A)
< FigfE=4.64 > < FfE=5 > < FHfE=362 > < FHfE=3.8 >
i o o
BURPEEA
1A—60A
|5:72.2%
(390)
04:22.2%
(120)
O3:5.6%
BA)
O2:0.0%
(OA)
BL0.0%
(OA)
B0:0.0%
(OA)

< FifE=467 >




[003]8p % t=Id L S/ RERAE L TCCDBEZEBHRLELIN?

5=&<EHAL,

4=BEDHFTAT,

3 =TI E — R ETRAT

2=[FEAEFRATLVEL,

1=2{ERATLEL,

O=RIETERL,

B8 (AL ko N

1A—60A 61A—200A 201 A—500A
B5:66.7% m5:52.6% m557.2%
(260) (50A) (2194)
D4:23.1% 04:36.8% 04:32.6%
©A) (35A) (1254)
O3:7.7% 03:8.4% 03:7.8%
BA) (8A) (30A)
o2:2.6% 02:11% D2:2.1%
(LA) @A) (8A)
BL0.0% D111% D103%
(OA) aA) aA)
D0:0.0% D0:0.0% 0:0.0%
(OA) (OA) (OA)
< FiYfti=454 > < FYfE =439 > < FYfti=4.44 >
SFHF A
1A—60A 61A—200A 201 A—500A
B5:48.6% B5:61.1% B5:66.7%
(524) (80A) (92)
04:36.4% 04:24.4% 04:203%
(394) (32A) (280)
03:6.5% 03:9.2% 038.0%
(7A) (120) (11A)
o25.6% 02:38% 02:4.3%
(6A) (5A) (6A)
o1:2.8% o115% B10.7%
(BA) @A) (aA)
B0:0.0% B0:0.0% 00:0.0%
(OA) (OA) (OA)
< FHfE=4.22 > < FHftEi=44 > < FiYfti = 4.48 >
°
AR—vRERFEE A
1A—60A 61A—200A 201 A—500A
B5:42.9% B5:50.0% B5:48.8%
(214) BA) (42A)
04:26.5% 04:50.0% 04:302%
(134) BA) (26A)
03:16.3% 03:0.0% 03:163%
(8A) ©A) (144)
o212.2% 02:0.0% 02:12%
(6A) (0A) (aA)
B1:2.0% B10.0% B13.5%
(1A) (0A) (B8A)
B0:0.0% B0:0.0% B0:0.0%
(OA) (0A) (A)
< il =3.96 > < FifE=45 > < Fi9fE=42 >
EISHMHMA
1A—60A 61A—200A 201 A—500A
B5:50.0% B5:36.5% B5:385%
(124) (80A) (5A)
04:37.5% 04:283% 04:15.4%
(OA) (62A) @A)
03:8.3% 03:25.1% 3:385%
@A) (55A) (5A)
02:00% 02:5.9% 027.7%
(0A) (13A) ar)
B1:4.2% B14.1% B10.0%
(1A) (OA) (0A)
B0:0.0% B0:0.0% B0:0.0%
(OA) (A) (OA)
< FifE=4.29 > < FifE=3.87 > < FifE=3.85 >
DR EEA
1A—60A 61A—200A 201 A—500A
B5:65.5% |537.7% m531.2%
(384) 23A) (2831)
04:24.1% 04:311% B4:30.7%
(144) (19A) (2780)
O3:5.2% 03:6.6% 03:19.6%
BA) [LON] (178.A)
o23.4% 02:19.7% 02:9.1%
@A) (120) (82A)
BLL7% B14.9% B1:9.4%
aA) (BA) (85A)
B0:0.0% B0:0.0% B0:0.0%
(OA) (OA) (OA)

< FifE=4.48 >

< Fi{E=377 >

< FifE=3.65 >




[003]8p % t=Id L S/ RERAE L TCCDBEZEBHRLELIN?

5=&FATE.  4=BIEOHFAE, IS=pEFELGE -—BRERAL. 2=BELAERATHVEL, 1=2<FATLVEL,

O=RIETERL,

JO0-nlb =231z -Ya 8 E B

1A—60A 61A—200A 201 A—500A
5:58.2% B5:46.4% m5:72.7%
(160A) (13A) (32A)
4:26.5% 04:35.7% 04:25.0%
(713A) (10A) (11A)
3:10.2% 03:17.9% 03:2.3%
(28A) (5A) aA)
02:4.7% 02:00% 02:00%
(13A) OA) (OA)
01:0.4% B10.0% 010.0%
(LA) (0A) (0A)
0:0.0% D0:0.0% 00:0.0%
(OA) (OA) (OA)
< FYfE =437 > < FHfE=4.29 > < FHfE=47 >
. .
ro-n I ibig L E T
1A—60A 61A—200A 201 A—500A
B5:61.9% B5:74.4% B5:49.4%
(83A) (61A) (38A)
04:29.1% 04:15.9% 04:29.9%
(39A) (13A) (23A)
o3:1.5% 036.1% 03:6.5%
28] (5A) (5A)
D26.0% O2:24% 02:104%
(8A) @A) (8A)
BL15% o112% D13.9%
2A) (1A) (BA)
B0:0.0% B0:0.0% 00:0.0%
(OA) (OA) (OA)
< FYfti=4.44 > < Ffti=46 > < FHfE=41 >
RTERERE 2—HE
1A—60A 61A—200A 201 A—500A
5:40.5% @5:44.0% |551.4%
(1474) (120) (11)
4:36.4% @4:32.2% 4:32.4%
(132A) (87.0) (70A)
3:13.2% @3:15.9% 03:12.5%
(48.A) (43A) 27A)
02:8.0% 02:6.3% o23.2%
(290) a7A) 7N
oL19% @111% BL05%
(7A) (B8A) (aA)
0:0.0% @0:0.0% 0:0.0%
(OA) (A) (0A)
< T = 4.06 > < Fi9fE-413 > < FifEi-431 >
SNEEEERA
1A—60A
5:36.9%
(505.A)
4:27.7%
(379A)
3:20.1%
(275A)
028.7%
(119A)
BL6.7%
(92A)
0:0.0%
(OA)
< Fi9fE=3.79 >
REFENA (EER)
1A—60A
B5:67.9%
(53A)
04:205%
(16A)
O3:6.4%
(5A)
o25.1%
(@A)
BL0.0%
(OA)
B0:0.0%
(OA)

< FifE=451 >




[003]8p % t=Id L S/ RERAE L TCCDBEZEBHRLELIN?

5=&<EHAL,

4=BEDHFTAT,

3 =TI E — R ETRAT

2=[FEAEFRATLVEL,

1=2{ERATLEL,

O=RIETERL,

REFENA ESER)

1TA—60A

61A—200A

201 A—500A

m557.1% B5:50.0% B5:67.5%
(4A) (6A) (104A)
04:28.6% 04:417% 04:22.7%
2A) (5A) (35A)
03:00% 038.3% 03:7.1%
(OA) aA) (11A)
02:14.3% 02:00% D21.9%
(LA) (0A) BA)
BL0.0% B10.0% DL0.6%
(OA) (0A) aA)
D0:0.0% D0:0.0% 0:0.0%
(OA) (OA) (OA)
< FiYfE=4.29 > < FiYfE=4.42 > < FiYfE =455 >
=
AXEZREE (EP)
1A—60A 61A—200A 201 A—500A 501 A—
B5:50.0% B5:50.0% B5:69.2% B5:47.1%
QA) aA) (18A) (240)
04:50.0% 04:50.0% 04:23.1% 04:37.3%
(1A) (aA) (6A) (19A)
03:00% 03:00% 03:3.8% 03:15.7%
(OA) (0A) (tA) (8A)
02:00% 02:0.0% 02:0.0% 02:0.0%
(OA) (0A) (0A) (0A)
BL1:0.0% B100% D138% B100%
(0A) (0A) (aA) (OA)
B0:0.0% B0:0.0% 00:0.0% B0:0.0%
(OA) (OA) (OA) (OA)
< FigfE=a5 > < FigfE=45 > < FiYfE=454 > < FiYfE=431 >
BA- AME2REE
1A—60A
B5:33.3%
(1A)
04:33.3%
(1A)
03:33.3%
(1A)
02:00%
(OA)
BL0.0%
(OA)
B0:0.0%
(OA)
< FigfE=a >
YUIAT4T-SxURE
1A—60A 61A—200A 201 A—500A
@5:100.0% B5:200% B5:68.2%
(BA) aA) (15A)
24:0.0% 04:60.0% 04:22.7%
(0A) BA) (5A)
@3:0.0% 03:200% 03:4.5%
(0A) @A) @A)
02:0.0% 02:0.0% 02:4.5%
(0A) (0A) @A)
@1:00% B10.0% B10.0%
(0A) (0A) (0A)
20:0.0% B0:0.0% B0:0.0%
(0A) (A) (OA)
< FifE=5 > < FigfE=4 > < FifE =455 >
Fr)THAREEREE
61A—200A 201 A—500A
B5:45.5% B5:66.7%
(5A) @A)
04:36.4% 04:16.7%
@A) (1A)
03:9.1% 03:16.7%
(1A) (1A)
029.1% 02:0.0%
@A) (0A)
B10.0% B10.0%
(0A) (0A)
B0:0.0% B0:0.0%
(OA) (OA)

< FifE=418 >

< Fi9fE=45 >




[003]8p % t=Id L S/ RERAE L TCCDBEZEBHRLELIN?

5=&<GERATE.  A=BIEDOHTAT.

3 =TI E — R ETRAT

2=[FEAEFRATLVEL,

1=2<{FATLVEL, O=EETELL,

EHREMAE

XA REE B

IR=NI- 4T -AHREEE

frifl SRR R R

5:56.8% m588.9% B5:100.0% @5:100.0%
(137A) (16.A) OA) BA)
4:24.1% 04:111% B4:0.0% 24:0.0%
(58A) 2A) (OA) OA)
3:12.0% 03:00% 03:00% @3:00%
(290) OA) (OA) (OA)
02:1.2% 02:0.0% 02:0.0% 02:0.0%
BA) (0A) (OA) (OA)
015.8% B10.0% BL0.0% @L0.0%
(14A) OA) (OA) (OA)
B0:0.0% 80:0.0% 30:0.0% 90:0.0%
(OA) (OA) (OA) (OA)
< FigfE=4.25 > < FfE=4.89 > < FYflE=5 > < FYflE=5 >
< . .
BARE- BAXLEE L 4—HEA ro-nNLEEL -8B
B5:48.6% B5:71.4%
(89A) (20A)
04:26.8% 04:25.0%
(49 M) (7A)
03:15.8% 03:0.0%
(290) OA)
o211% 02:3.6%
@A) @A)
B17.7% 21:0.0%
(14A) OA)
20:0.0% 20:0.0%
(OA) (OA)

< FYfE=4.08 >

< FiYfE=464 >




[004]CDIBEIZIFTNRIZH>TEDONTHNET M ?

5=58<Z5B5, 4=%58B3, 3=EBLEBLEAL, 2=F3BbAL, 1=2<Z53BbAL, O0=EZETELL,
A4
EFEHEB
1A—60A 61A—200A 201 A—500A 501 A—
@5:35.2% [5:34.8% B5:31.5% [5:27.9%
(980.A) (373.A) (939A) (60.A)
@4:51.6% 04:52.6% 24:53.6% @4:57.2%
(1438\) (563.A) (1597.A) (123.A)
03:7.4% 03:7.4% 03:9.3% o3:12.1%
(205.1) (790) (276 \) (26.A)
02:1.7% 02:1.5% 02:13% 02:0.0%
(48 1) (16A) (40A) (OA)
[1:0.8% @1:0.7% [1:0.6% [@1:0.0%
(22A) (7A) 17.A) OA)
@0:3.3% @0:3.1% 20:3.7% [@0:2.8%
(92A) (33A) (109.A) (BA)
< FYfE=4.23 > < FYfE=4.23 > < FHfE=4.19 > < FHfEi = 4.16 >
A4
XEEEE
1A—60A 61A—200A 201 A—500A
m5:42.1% @5:50.0% m5:36.3%
(32A) (320) (69A)
[4:51.3% 04:40.6% 04:46.8%
(39A) (26.0) (89A)
@3:3.9% 03:6.3% 23:11.6%
BA) @A) (228)
02:2.6% 02:1.6% 02:1.6%
@A) an [EN]
@1:0.0% @1:0.0% @1:0.0%
0A) [ON] [ON]
@0:0.0% @0:1.6% @0:3.7%
©A) ar) (12N}
< FYfE=433 > < FYfti=4.41 > < FYfE=4.22 >
e
A4
EPEREE
1A—60A 61A—200A 201 A—500A 501 A—
@5:44.9% B5:36.8% @5:31.5% B5:26.7%
(57N) (32A) (206.\) (32A)
@4:42.5% 04:52.9% @4:50.9% 04:60.0%
(54A) (46.0) (333A) (720)
03:3.9% 03:4.6% 03:9.0% 03:10.0%
(5A) (aN) (59A) (120)
o02:3.1% o2:23% 02:2.8% 02:0.0%
@A) 2A) (18A) OA)
B1:2.4% @1:0.0% @11.5% @1:0.0%
BA) OA) (10A) OA)
@0:3.1% [0:3.4% [0:4.3% @0:3.3%
(4AN) (3A) (280) (aN)
< FifE=4.28 > < FigfE=4.29 > < FifE=413 > < FigfE=417 >
oy o
BHFHRA
1A—60A 61A—200A 201 A—500A 501A—
@5:35.7% @5:100.0% @5:133% B5:20.5%
5A) [E9N) @A) [N}
@4:57.1% @4:0.0% @4:45.0% 04:56.8%
(8A) (OA) (27.0) (25A)
@3:7.1% 03:0.0% 03:26.7% 03:18.2%
QA) (OA) (16.A) (8A)
02:0.0% 02:0.0% 026.7% 02:0.0%
0A) 0A) @A) [ON]
B1:0.0% 1:0.0% @1:0.0% [1:0.0%
©A) ©A) [ON] [N}
[0:0.0% [0:0.0% [0:8.3% [0:4.5%
©A) ©A) GA) [e2N)
< FifE=4.29 > < FigfE=5 > < FifE=371 > < FifE=4.02 >
Atk o
BUERFEE A
1A—60A
@5:50.0%
(27A)
[4:40.7%
(228)
o3:1.9%
[E9N)
02:5.6%
BA)
B1:0.0%
©A)
[0:1.9%
ar)

< Fi9fE=438 >




[004]CDIBEIZIFTNRIZH>TEDONTHNET M ?

5=58<Z5B5, 4=%58B3, 3=EBLEBLEAL, 2=F3BbAL, 1=2<Z53BbAL, O0=EZETELL,
Bk
X{etE#REE B
1A—60A 61A—200A 201 A—500A
@5:38.5% @5:28.7% @5:30.3%
(15A) (27.0) (117.A)
04:48.7% 04:59.6% @4:58.3%
(19A) (56.A) (225A)
o3:7.7% m3:8.5% O3:8.8%
BA) (8A) (340)
02:5.1% 02:1.1% 02:1.0%
28] @A) (N}
@1:0.0% |111% B1:0.5%
(OA) aA) @A)
@0:0.0% @0:1.1% @0:1.0%
(OA) ar) A
< FifE=4.21 > < FifE=4.15 > < i =418 >
PN o
SSEEE
1A—60A 61A—200A 201 A—500A
m5:37.4% m5:35.1% m5:41.6%
(40A) (46.0) (570)
04:49.5% 04:48.9% 04:49.6%
(53A) (64.0) (68A)
o3:4.7% 03:9.2% @3:5.1%
(5A) (12A) (7A)
02:0.9% o2:3.8% o2:15%
(LA) (5A) @A)
@1:1.9% @1:1.5% @1:0.7%
28] @A) @A)
@0:5.6% @0:1.5% @0:1.5%
(6A) @A) @A)
< FYfE=4.27 > < FYfE=4.14 > < FYfE=432 >
2, %y [
RR—VRERPEHEE
1A—60A 61A—200A 201 A—500A
@5:40.0% @5:0.0% @5:33.7%
(20A) OA) (290)
04:48.0% 04:83.3% 04:53.5%
(24N) (5A) (46.0)
@3:6.0% @3:16.7% @3:10.5%
(3A) @A) (OA)
@2:0.0% 02:0.0% @2:1.2%
(OA) (0A) @A)
@1:2.0% @1:0.0% @1:0.0%
(LA) (0A) (0A)
@0:4.0% @0:0.0% @0:1.2%
@A) (0A) ar)
< FifE=4.29 > < FifE-3.83 > < FigfE=421 >
vy o]
BEISHMA
1A—60A 61A—200A 201 A—500A
@5:41.7% @5:37.0% @5:0.0%
(100) (81A) (0A)
@4:37.5% @4:47.5% 04:69.2%
(9A) (10a1) (9A)
@3:12.5% @3:7.3% @3:15.4%
(BA) (16A) 2A)
02:0.0% 02:1.8% 02:0.0%
(0A) aN) (0A)
@1:0.0% @1:05% @1:0.0%
(OA) aA) (0A)
@0:8.3% @0:5.9% @0:15.4%
2A) (13A) (2A)

< FifE=432 >

< FifE=4.26 >

< FifE=382 >

DESERAME
1A—60A

61A—200A

201 A—500A

B5:35.6%
(210)
04:55.9%
(330)
o3:3.4%
@A)
O2:0.0%
(OA)
BL0.0%
(OA)
B0:5.1%
BA)

B5:153%
(OA)
04:67.8%
(40A)
03:11.9%
7A)
02:0.0%
(0A)
B10.0%
(0A)
B0:5.1%
BA)

|5:25.7%
(233.A)
B4:56.7%
(514.A)
03:10.7%
(97A)
02:0.7%
(6A)
B1:0.2%
@A)
B0:6.0%
(54.0)

< FifE=434 >

< Fi9fEi = 4.04 >

< FifE=414 >
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1=2{E3BhIL

B=ELBELNRAL,

2=F53B 01N,

O=RIETERL,

5=m<{E583, 4=%383,
- . - 3 vy
ra-Nlb-13ch-a R E
1A—60A 61A—200A 201 A—500A
5:36.9% B5:103% B5:34.9%
(101A) BA) (15A)
4:54.7% 4:65.5% 04:58.1%
(150.A) (19A) (250)
35.5% 03:13.8% 03:7.0%
(15A) aN) (B8A)
02:1.1% 026.9% 02:00%
(3A) @A) (0A)
010.7% B10.0% 010.0%
28] (0A) (0A)
0:1.1% 00:3.4% 00:0.0%
BA) ar) (OA)
< FigfE=427 > < FifE=3.82 > < FigfE=4.28 >
. .
ey
40— o 3higE b AR R B
1A—60A 61A—200A 201 A—500A
B5:37.3% B5:46.9% B5:39.0%
(50A) (38A) (30A)
04:48.5% 04:45.7% 04:48.1%
(654) [E2N) [E2N)
03:7.5% 03:4.9% 03:117%
(104) aN) (9A)
o23.7% 02:0.0% 02:0.0%
(5A) (0A) (0A)
BL15% o112% B100%
28] aA) (0A)
B0:1.5% 00:1.2% 00:1.3%
2A) ar) ar)
< FYfEi=4.18 > < FiYfEi =439 > < FiYfti=4.28 >
£ SH I8 4
RTERERE 2—HE
1A—60A 61A—200A 201 A—500A
5:37.4% @5:35.2% B5:39.0%
(136.A) (950) [EIN)
4:50.3% @4:54.4% B4:52.8%
(183A) (1470) (1154)
3:7.4% @3:6.3% O3:5.5%
@270) A 12A)
o21.1% 02:04% 02:0.9%
(4A) (1A) @A)
B1:0.5% @10.7% BL05%
(2A) @A) aA)
0:33% 20:3.0% B0:1.4%
(120) (8A) (BA)
< Fi9fEi=4.27 > < FifEi =427 > < FifEi-431 >
SEERA
1A—60A
531.0%
(425\)
4:53.9%
(738A)
3:8.5%
(116A)
02:1.8%
(240)
B10.7%
(104)
0:4.2%
(57A)
< Fi9fEi-418 >
REFEN B (ERR)
1A—60A
B5:46.2%
(360)
04:42.3%
(330)
O3:11.5%
(OA)
O2:0.0%
(OA)
BL0.0%
(OA)
B0:0.0%
(OA)

< FifE=435 >




[004]CDIBEIZIFTNRIZH>TEDONTHNET M ?

1=2{E3BhIL
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(002) HIEIEICDREDEZEFEZELTERTETLLERAVETHN?

(003) HEIELINREFZALE ETIOREEEFLELEN?

(004) COBEFIINRIZH>THEDONTHNETM?

(005) COIFEDEEOABHBATHHAYPTNTTM?

(006) COIRETHENLGEBEANDERETRENELM?

(007) HEFIICDREERFELELZN?
5=RETL, 4=1—2EIRE, 3=3—4EIRE, 2=5—6EIRE, 1=TEILUILRE,
0=EIZTELL,)

(008) HET-IFBEEFEHNENCLVNCDIREDFEEZTETO>TLEITM?
(5=2FR LA L, 4=1BRE30FRE, 3=1BERAIRE, 2=3012E., 1=08%fH.
0=E&TELLY,)

(009) CHIEBEEZIHTTOTRIVAZ400FEURNTEARMIZEALTEZL,

(010) COEBEOHRELENHNIE, 400F LN TEHRMIZIEALTESLY,

[ EF# ]
(001) HEFIITDREICBHDGZHEERETHYVHEATILS,

[BFEEHER (EREE)]
(001) HEFRAEZE>TIREZLTLS,
(002) ZHE DFELAIXEEmMY LT LY,
(003) HEFZEIZERDEERESZ TS,
(004) COIBEEZEEDIZ. F2HICEBLEZEAR B (BFERAM. BAREAM. BEZORERE. ITERR)
EDBEEEEEHLANSEZETEELD,
(005) CORETIF REESSICEMMNGERE B (O—<HF INFESNFHE)EEETH-HDOERE
RBEFH O TERELRD,
(006) CHDEBETIFSE=RAEN., E5VLEBETETLNIE, ZOMOF BISEN T IENTELERLSI L
HYELI=M,
(007) KUYSELHEMMBERBRELTIKSZA T, FEEEINEVGE1OTTIERYAL) ERLAZEEHYEL=D,

[BFFHEB (TA/ZHR-T—H2avF)]
(001) HEFRAEZE>TIREZLTLS,
(002) ZHEDFELAIXEEmMY LT LY,
(003) HEFZEIZERDEEESZ TS,
(004) COBEDORNBIEHAE-IZESTHEILZLARIILTLED,
(005) G MMDITTa/ZHR-T—HLavT IDBEEZEL-LTTH,
(006) HE=IFEEDBEICERNIZSMTELZERVETH,
(007) COBREFZELISEB-EBHELT. REELTLDLDE—DFBATTALY,
(008) B =D AZR R E—DEA TS,

[tEEEHEB]
(001) ZOBEDLANIILDGEELEYITHS,
(002) COHIEBEDEYUEDELAITHMYDOTLY,

[BITEHEER]
(001) HEIFREDBERINOIT . ZREEEERL,
(002) HiEIFBEERNBRICOVWTEMPREEZEL TS, HEINEL. REDEELH D,
(003) HEIEZDIREETHITEMET BI=HICELICERYIEA TS,
(004) EEZFDOEBENBELOND,
(005) BRIOCEESDOLOLTUIMBEDHEDAILEERELS,
(006) EZEANBDLAIITEEIELLY,
(007) BEABRDEILELSIE KLY,
(008) THAMEMERLGEEFELITHD,
(009) COFBETIIER-TADIIFI—FDFENVAIEL T, KFOKRESHLELTH S,



[AXEZERFE (Ef$) ]
(001) BT DREICBDLEZHEEETIYHEATLS,

XUFEHARICHERICTT 7 —beRELEZR - A RRFMHRE I+ —LTERERODHELH



SFABEMREOH B IHHIKRFHER RERMAS)

@7 r—rEHERODRAIZONT
OBEMEBR&EICAYST7TEHERERLTLET,

OFHHEBIX. UTOEZEHRERN TRIALTLES,
TA~60A 61A~200A 201 A~500A 501ALLE

OEMBEBENEEZEDFEHNEET ST TEITRLTVET,

OFIHETRAILGNERIT, BEFTRODELEIHIDDELET,

5=5<{Z3/85, 4=%3875, I=EBBELLAEL,
2=F5R DL, 1=2<LZ5BbhL, 0=EEFTEL,

OEM(003) IZDWVTIERDEEIZHSIBDELET,
5=&<{FHEAT, 4=BEDHFRAT, S=ETELE—E R ERAT.
2=[FLAETATUVELY, 1=2<{HEATLVEL,

OEROONIZDWTIIRDOEEIZRSEDELET,
5=REHGL, 4=1—2EIRE, 3=3—4RRKRE, 2=5—6EIKE, 1=7ELULKXE

OHEM(008) [T DNTIFRDEEIZHSIBDELET
5=2FML L, 4=18FHI30NREE., I=1KHEE, 2=307EE. 1=08M.,

KAEELFALIT U7 —FEERLTOEL, HD0E, BEBRHI0ZOZFE-HRRDIIT7EHYEE A,



[001)H G IFCHBEICSHRELTHET N ?

5=m<{E583, 4=%383,

B=ELLELVALLY,  2=F3B0AL.  1=2{E3BDIL

O=RIETERL,

£FHEE

1A—60A 61A—200A 201 A—500A
5:29.0% m56.6% |575%
(2274) (6A) (126.A)
4:57.0% 04:64.8% 04:46.2%
(447.0) (590) (7790)
3:115% 03:209% 03:28.9%
(904) (19A) (4870)
02:1.4% 02:6.6% 02:12.7%
(11A) (6A) (2144)
01:0.9% D111% DL14.4%
[tZN] aA) (740)
0:03% D0:0.0% 00:0.4%
2A) (OA) (6A)
< FifE=412 > < FfE=3.69 > < FifE=3.4 >
XEEEE
1A—60A
5:25.8%
(490)
4:58.9%
(112A)
03:13.2%
(25A)
D21.1%
@A)
B1:0.5%
(1A)
0:0.5%
aA)
< i = 4.09 >
BEFEEEA
1A—60A 201 A—500A
5:30.4% |575%
(171A) (126.A)
4:55.6% 04:46.2%
(313A) (7790)
3:11.2% 03:289%
(631) (4870)
0216% o212.7%
OA) (2144)
L% BL1:4.4%
(6A) (740)
0:0.2% 00:0.4%
aA) (6A)

< FifE=413 >

< F9fE=34 >

S¥EHE
1TA—60A

B5:200%
(@A)
B4:75.0%
(15A)
O3:5.0%
(1A)
02:00%
(OA)
BL0.0%
(OA)
B0:0.0%
(OA)

< FifE=415 >

BTk E

61A—200A

B56.6%
(6A)
04:64.8%
(59A)
03:209%
(190)
02:6.6%
(6A)
o111%
@A)
B0:0.0%
(0A)

< Fi9fE=3.69 >




[001)H G IFCHBEICSHRELTHET N ?

5=#<Z5E3, 4=%F3B5, 3=LBoLBLRAL, 2=T53BbhAL, 1=2<Z53BbAL,  0=REZETEAHL,

AXHERE A (EHF)

1TA—60A

m5:27.3%
BA)
4:63.6%
7A)
03:9.1%
(1A)
02:00%
(OA)
BL0.0%
(OA)
D0:0.0%
(OA)

< Fi9fEi-4.18 >




[002)H - IXC DB EDEZEBEEZZERTELERNVETM?

5=#<Z5E3, 4=%F3B5, 3=LBoLBLRAL, 2=T53BbhAL, 1=2<Z53BbAL,  0=REZETEAHL,

£FHEE

1TA—60A 61A—200A 201 A—500A

|5:4.4%
(OS]
04:52.7%
(48.0)
03:29.7%
(27.0)
D2:12.1%
(11A)
B10.0%
(0A)
@0:1.1%
ar)

m517.2%
(135A)
4:57.5%
(451A)
3:2L.7%
(170A)
02:1.4%
(11A)
01:0.6%
(5A)
m0:1.7%
(13A)

< FYfE=3.91 > < FfE=35 > < FfE=33 >

XEFEE B
1A—60A

B5:9.4%
(18A)
D4:51.8%
(990)
03:35.1%
(670)
02:0.5%
(1A)
B1:05%
(1A)
D0:2.6%
(5A)

< FYfE=3.71 >

BEFEEEA

1A—60A 201A—500A

B5:45%
(76.0)
B4:40.0%
(675.A)
03:35.2%
(593.A)
02:14.0%
(236.A)
o12.9%
(490)
0:3.4%
(58.0)

5:20.2%
(114A)
4:59.0%
(332A)
3:17.1%
(96.N)
0216%
(OA)
B10.7%
(aA)
0:1.4%

(8A)

< F9fE=33 >

< Fi9fE=3.98 >

S¥EHE
1TA—60A

B5:10.0%
@A)
04:80.0%
(16A)
O3:5.0%
(1A)
o25.0%
(1A)
BL0.0%
(OA)
B0:0.0%
(OA)

< FifE=3.95 >

BTk E

61A—200A

|5:4.4%
(N}
B4:52.7%
(a8A)
03:29.7%
(27.0)
02:121%
(11A)
B10.0%
(0A)
B0:11%
ar)

< F9fE=35 >




[002)H - IXC DB EDEZEBEEZZERTELERNVETM?

5=#<Z5E3, 4=%F3B5, 3=LBoLBLRAL, 2=T53BbhAL, 1=2<Z53BbAL,  0=REZETEAHL,

AXHERE A (EHF)
1TA—60A

B5:9.1%
(1A)
04:36.4%
(@A)
3:54.5%
(6A)
02:00%
(OA)
BL0.0%
(OA)
D0:0.0%
(OA)

< FiYfEi=3.55 >




[003]8p % t=Id L S/ RERAE L TCCDBEZEBHRLELIN?

S5=&{FATE.  4=BIEDOHFALE, I=pEFHHELTE I ERAT.

2=[FEAEFRATLVEL,

1=2{ERATLEL,

O=RIETERL,

£FHEE

1A—60A 61A—200A 201 A—500A
5:383% m5:12.1% B512.0%
(301A) 1A) (2024)
4:37.7% 04:33.0% 04:34.1%
(296.A) (30A) (5740)
3:14.5% 03:33.0% 03:28.8%
(114) (30A) (48a0)
025.6% 02:13.2% 02:11.3%
(4a1) 12A) (1904)
013.8% D18.8% DL13.8%
(30A) ®A) (2324)
0:0.0% D0:0.0% 00:0.0%
(OA) (OA) (OA)
< FifE=4.01 > < FifE=3.26 > < FifE=3.19 >
XEEEE
1A—60A
B5:46.1%
(88A)
04:42.9%
(820)
03:5.2%
(104)
o2:2.6%
(5A)
o13.1%
(6A)
B0:0.0%
(OA)
< FHfi=4.26 >
BEFEEEA
1A—60A 201 A—500A
5:35.9% |512.0%
(2024) (2024)
4:36.1% 04:34.1%
(203A) (5740)
3:17.2% 03:28.8%
(970) (48a0)
02:6.6% o211.3%
[EN] (1904)
B1:43% oL13.8%
(240) (2324)
0:0.0% B0:0.0%
(OA) (OA)
< FifE=3.93 > < FifE=3.19 >
2PHEA
1A—60A
B5:35.0%
7A)
04:30.0%
(6A)
03:25.0%
(5A)
02:100%
@A)
BL0.0%
(OA)
B0:0.0%
(OA)
< FigfE=39 >
BEISHMA
61A—200A
B5:12.1%
(11A)
04:33.0%
(30A)
03:33.0%
(30A)
O2:13.2%
(12A)
o18.8%
(8A)
B0:0.0%
(0A)

< Fi9fE=3.26 >




[003]8p % t=Id L S/ RERAE L TCCDBEZEBHRLELIN?

5=&<GERATE.  A=BIEDOHTAT.

3 =TI E — R ETRAT

2=[FEAEFRATLVEL,

1=2<{FATLVEL,

O=EETERL,

AXHERE A (EHF)
1TA—60A

m5:36.4%
(@A)
04:45.5%
(5A)
03:18.2%
@A)
02:00%
(OA)
BL0.0%
(OA)
D0:0.0%
(OA)

< Fi9fEi-4.18 >




[004]CDIBEIZIFTNRIZH>TEDONTHNET M ?

5=58<Z585, 4=%383. 3=EBLELVAKRL, 2=F3BbLEL, 1=2{E3BbhAL.

O=RIETERL,

£FHEE

1A—60A 61A—200A 201 A—500A
5:30.8% m5:12.2% B585%
(2410) 1A) (1434)
4:57.2% 04:64.4% 04:56.8%
(448.1) (58A) (9570)
3:8.0% 03:100% 03:209%
(63A) [ON)] (352)
02:03% 02:11% D213%
@A) aA) (220)
01:0.0% B10.0% DL0.9%
(OA) OA) (15A)
0:3.7% 00:12.2% D0:11.7%
(29A) (1A) (197A)
< FifE=4.23 > < FHfE=a > < FHfE=38 >
XEEEE
1A—60A
5:25.1%
(480)
4:68.1%
(130A)
3:4.2%
(8A)
02:0.0%
(OA)
1:0.0%
(OA)
0:2.6%
(5A)
< Ff=4.22 >
BEFEEEA
1A—60A 201 A—500A
5:335% B585%
(188A) (1434)
4:52.0% 04:56.8%
(292) (9570)
3:9.8% 03:209%
(55A) (3524)
02:0.4% o213%
@A) (22A)
1:0.0% BL0.9%
(0A) (15A)
0:43% B0:11.7%
(24) (197A)
< FifEi=4.24 > < F9fE=38 >
SFHF A
1A—60A
B5:10.0%
@A)
04:90.0%
(18A)
03:0.0%
(OA)
02:00%
(OA)
BL0.0%
(OA)
B0:0.0%
(OA)
< FigfE-=41 >
EISHMHMA
61A—200A
m5:12.2%
(11A)
04:64.4%
(58A)
03:100%
(OA)
o2:11%
@A)
B10.0%
(0A)
B0:12.2%
(11A)

< FigfE=4 >




[004]CDIBEIZIFTNRIZH>TEDONTHNET M ?

5=#<Z5E3, 4=%F3B5, 3=LBoLBLRAL, 2=T53BbhAL, 1=2<Z53BbAL,  0=REZETEAHL,

AXHERE A (EHF)

1TA—60A

m5:27.3%
BA)
04:72.7%
(8A)
03:00%
(OA)
02:00%
(OA)
BL0.0%
(OA)
D0:0.0%
(OA)

< FYfE=4.27 >




[005]CDIBEDEEROARZAITHHILYPTNTTM?

4=F3/5, B=ELLEBVALL, 2=F5BbELN

1=2{E3BhIL

O=RIETERL,

5=3<{E583,
oy
EPEEE
1A—60A 61A—200A 201 A—500A
m527.2% m5:12.1% B593%
(213A) 1A) (1574)
4:53.4% 04:62.6% 04:44.6%
(4190) (570) (7520)
3:15.8% 03:18.7% 03:26.8%
(124.0) ) (4520)
02:2.7% 02:6.6% 02:13.2%
(214) (6A) (2230)
01:0.6% B10.0% oL58%
(5A) (OA) (98A)
0:03% D0:0.0% 00:0.2%
2A) (OA) A
< FiYfE=4.04 > < FfE=3.8 > < FYfE=3.38 >
A
XEEEE
1A—60A
5:22.0%
(420)
4:60.7%
(116A)
3:15.2%
(290)
02:2.1%
(aA)
1:0.0%
(OA)
0:0.0%
(OA)
< FHfi = 4.03 >
3 o o
BEHEFEHENA
1A—60A 201 A—500A
5:27.9% B5:93%
(157A) (1574)
4:50.9% 04:44.6%
(286.A) (7520)
3:16.9% 03:26.8%
(954) (4520)
02:3.0% o213.2%
(170) (223.A)
B1:0.9% oL5.8%
(5A) (98A)
0:0.4% 00:0.2%
@A) @A)

< FifE=4.02 >

< Fi9fE=338 >

S¥EHE
1TA—60A

B5:35.0%
7A)
04:65.0%
(13A)
03:0.0%
(OA)
02:00%
(OA)
BL0.0%
(OA)
B0:0.0%
(OA)

< FifE=435 >

BTk E

61A—200A

B5:12.1%
(11A)
04:62.6%
(57.0)
03:18.7%
17.A)
02:6.6%
(6A)
B10.0%
(0A)
B0:0.0%
(0A)

< Fi9fE=38 >




[005]CDIBEDEEROARZAITHHILYPTNTTM?

5=#<Z5E3, 4=%F3B5, 3=LBoLBLRAL, 2=T53BbhAL, 1=2<Z53BbAL,  0=REZETEAHL,

AXHERE A (EHF)

1TA—60A

B5:63.6%
7A)
04:36.4%
(@A)
03:00%
(OA)
02:00%
(OA)
BL0.0%
(OA)
D0:0.0%
(OA)

< FiYfEi-a.64 >




[006]1CDEETHENGEE~ADERZERINFLIN?

5=#<Z5E3, 4=%F3B5, 3=LBoLBLRAL, 2=T53BbhAL, 1=2<Z53BbAL,  0=REZETEAHL,

£FHEE

1A—60A 61A—200A 201 A—500A
5:20.4% |56.7% |55.2%
(160.A) (6A) (87.0)
04:46.4% D4:511% 04:34.6%
(363A) (46 1) (s820)
3:26.2% 03:322% 03:36.9%
(205.A) (290) (6211)
02:5.2% 02:100% 02:17.6%
(a1A) [ON)] (296 1)
DL15% B10.0% oL5.2%
(124) [ON] (88A)
0:03% D0:0.0% 00:05%
2A) (OA) ©OA)
< FfE=3.79 > < FfE=3.54 > < FifE =317 >
XEEEE
1A—60A
B5:17.8%
(380)
04:42.9%
(820)
03:20.8%
(570)
o27.9%
(15A)
o116%
BA)
B0:0.0%
(OA)
< FHfi =3.68 >
BEFEEEA
1A—60A 201 A—500A
5214% |55.2%
(120A) (87.A)
04:47.1% 04:34.6%
(264.0) (s820)
3:25.1% 03:36.9%
(141) (6211)
02:4.5% o2:17.6%
(25A) (2960)
BL16% oL5.2%
(OA) (88A)
0:0.4% B0:05%
2A) (OA)
< Fi9fE-3.82 > < Fi9fE=317 >
SFHF A
1A—60A
B5:25.0%
(5A)
04:60.0%
(12A)
03:100%
@A)
o25.0%
(1A)
BL0.0%
(OA)
B0:0.0%
(OA)
< Fi9fEi = 4.05 >
EISHMHMA
61A—200A
|56.7%
(6A)
B4:511%
(a6.A)
03:322%
(290)
02:10.0%
(OA)
B10.0%
(0A)
B0:0.0%
(0A)

< FifE=354 >




[006]1CDEETHENGEE~ADERZERINFLIN?

5=#<Z5E3, 4=%F3B5, 3=LBoLBLRAL, 2=T53BbhAL, 1=2<Z53BbAL,  0=REZETEAHL,

AXHERE A (EHF)
1TA—60A

B5:9.1%
(1A)
04:45.5%
(5A)
03:45.5%
(5A)
02:00%
(OA)
BL0.0%
(OA)
D0:0.0%
(OA)

< FifE=3.64 >




[007)B - IXCDBEERELELI=MN?

5=REHEL, 4=1—2ERKE,

3=3—4ERE, 2=5—-6ERE. 1=7EULRE.

O=[EETERL,

£FHEE

1A—60A 61A—200A 201 A—500A
5575% B5:59.3% B5:69.5%
(451A) (540) (1171A)
4:33.9% 04:33.0% 04:24.0%
(266.A) (30A) (4114)
3:7.8% 03:7.7% 03:4.5%
(614) 7A) (761)
02:0.4% 02:00% 02:08%
BA) OA) (13A)
01:0.4% B10.0% 010.9%
BA) OA) (15A)
0:0.0% D0:0.0% D0:0.0%
(OA) (OA) (OA)
< FiYfiEi=4.48 > < FifEi=4.52 > < FiYfEi=a.61 >
XEEEE
1A—60A
B5:41.4%
(79N)
04:46.1%
(88A)
03:12.0%
(230)
02:00%
(OA)
B10.5%
(1A)
B0:0.0%
(OA)
< FHfi=4.28 >
BEFEEEA
1A—60A 201 A—500A
563.7% B5:69.5%
(358A) (1171A)
[4:29.4% 04:24.4%
(165A) (4114)
3:6.2% 03:4.5%
[EEN] (761)
02:0.4% 02:08%
@A) 1BA)
B1:0.4% B10.9%
2A) (15A)
0:0.0% B0:0.0%
(OA) (A)

< FifE=456 >

< FifE=461 >

S¥EHE
1TA—60A

B5:40.0%
(8A)
04:40.0%
(8A)
3:15.0%
BA)
o25.0%
(1A)
BL0.0%
(OA)
B0:0.0%
(OA)

< FifE=415 >

BTk E

61A—200A

B5:593%
(54.0)
04:33.0%
(30A)
O3:7.7%
7A)
02:0.0%
(0A)
B10.0%
(0A)
B0:0.0%
(0A)

< FifE=452 >




[007)B - IXCDBEERELELI=MN?

5=REHL, 4=1—2ERKE, 3=3—4@ERKE. 2=5—-6ERKE.

1=7EULRE,

O=[EETERL,

AXHERE A (EHF)

1TA—60A

B5:54.5%
(6A)
04:45.5%
(5A)
03:00%
(OA)
02:00%
(OA)
BL0.0%
(OA)
D0:0.0%
(OA)

< FiYfEi=4.55 >




(008l %=X BRIFHENSC LD CDBREDFEEBZITOTHEIN?

5=28ffM L, 4=1KH309EE, 3=1HMEE. 2=30578E. 1=0KfM. O=EETEAGL

£FHEE

1A—60A 61A—200A 201 A—500A
m528% B511% m525%
(220) an) (42A)
4:93% 04:4.4% 04:5.4%
(713A) [N (91A)
3:205% 03:253% 03:11.9%
(161A) 23A) (2014)
02:37.8% D02:46.2% 02:40.3%
(296.A) 2A) (6781)
01:29.6% D1231% B1:39.9%
(232) (21A) (6710)
0:0.0% 00:0.0% 00:0.0%
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